|
AAVBZ &

Q Eak
o W=MAREK (2D 2)
o TIREIEEN DB IR

ERDEHOBHES B E 7 B 2022. 11. 11 1/10



S L LG
%

H=AEK (D 2)

M= o—1 ==
~ B=ARHE sinT DESH ~N
e y=sin"tz, (~1<2<1)
THdI %
. ™ T
T = siny, (_§§y§§)
TEEDH B,
- y

EXDEHOBHES B H 7 B 2022. 11. 11 2/10



L e
= ba sy
B=AEK (2D 2)
W=ARAK sin~ ' DOEREHK
a #EDEHRETBEE

i(smf@) _ v (_z< <E)
dx a o a2—x2 2 y 2

EXDEHOBHES B H 7 B 2022. 11. 11 3/10



%

TREEEHOFERKOES

ZREBREHROFERBOES

RIX,Y) % X,Y OESEEE$5 %, / Rz, /z D= RER) dv 34)%
BRI 1 B

ALERIBIE T B, EELHIZHAL KD,

EXDEHOBHES B H 7 B 2022. 11. 11 4/10



%

TREEEHOFEEROES
[Bl] o PEDEHD & =
. 2
/ Va2 —x2dr = %z\/m+ a?sin_1 z
a

HERY
T = asint, ( gé g) B &, ZOXETIE cost 20 THY

d
Va2 — 22 =aV1—sin®t = acost, d—f =acost &Y dr=acostdt
THBHMH

52t + 1
/\/aQ—dea::/aQ cothdt:(f/Mdt

2

2 sin2t+t 2 sintcost+t
B 4 " 2) 2 2)"

EXDEHOBHES B H 7 B 2022. 11. 11 5/10




%

TREEEHOFERKOES

&I AT
/ N 2
sint = E, cost =V1—sin’t=4/1— (f) , t:sin_1§
a a a
THEIHMH

1 2
/\/a2 —22dx = 53:\/(12 — 224+ U%Sin_1 E.
a

EXDEHOBHES B H 7 B 2022. 11. 11 6/10



%
TREERHOFEEBOES

(1]

1
Y.
T = tant, <—§<t< )téb‘(t CDXETIL cost >0 THhHl)

1 dx 1 dt
1+22=V1+tan2t=—, —=—— &Y do=—+
\/ T \/ + tan® cost dt  cos?t v cos?t

THdHH
1 1 cost
- de= | —dt= | —————dt
/\/1+x2 “ /COSt /1—sin2t

EXDEHOBHES B H 7 B 2022. 11. 11 7/10



%

TREEEHOFERKOES

s=sint &H< & ds =costdt EH 5

ds 11 | 1|+11 s+ 1| 11 sint+ 1
= [ —— =—-log|s— —log|s = —log | ——
1—s2 2% 9 %8 2% gt —1
tant e
sint = an = x =hs
Vi+tan2t V1422
1 z+V1+ 2
=_—log|————| =log(z + Va2 +1
218 e i | )

BRORHORSMS BB 7 B 70, i, i

8/10



%

TREEEHOFERKOES

t_ —t
[BUAR] x:% LB e
26 _ 9 4 o2 e2t 4 9 4 =2t et 4 et 2
241=" 1= -
T° + 1 + 1 5 ,
de et+et .. . et + et
_—e———— :\ = —
7 5 =ZHh6 dx 5 dt
EHho
1 —t
[t [mm = [
&EZAT
et et
x:T%ttlﬁb\’Cﬁ§<ttzlog(x+ z2+1)

BRORHORSMS BB 7 B 70, i, i

9/10



%

TREEBRHOFERROES

5
=log(z + Va2 + 1)
&5,
y= % % WHAHRIESLREAE & LW Y sinh e TR,

EROLHONARS B B 7 B

2022. 11. 11

10/10



	
	積分法
	逆三角関数(その2)
	二次無理関数の有理関数


